
1

TAHITI STEEL SLING 2-SEAT 
STRING SWING HAMMOCK

x3

ASSEMBLY INSTRUCTIONS

READ & SAVE BELOW INSTRUCTIONS BEFORE ASSEMBLY 
1. PLEASE SEPARATE AND IDENTIFY ALL PARTS,MAKING SURE THAT YOU HAVE ALL OF THE PARTS LISTED.
2. TO AVOID ANY SCRATCH DURING ASSEMBLY, PLEASE ASSEMBLE ON A SOFT MAT OR SIMILAR.
3. PLEASE ASSEMBLE STEP BY STEP AND FOLLOW THE INSTRUCTIONS.
4. WASHERS MUST BE USED.
5. WHILE EACH SCREW AND NUT IS PROPERLY FASTENED, DO NOT OVER FASTEN IT.
6. DO NOT COMPLETELY FASTEN EACH SCREW AND NUT UNTIL ALL THE SCREWS ARE PROPERLY FIXED.



2

x21

x18 -B x19 x110 x211 x412 x213

x414 x415 x216 x117

x12 x13 x14 x15 x36 x17

Bx8 Cx2 Ex4 Fx2 Gx2 Hx2

Ix30 Mx26Jx8 Nx8Kx2 Lx1

Ax6
M6x12 mm M6x50 mm M6x12 mmM6x55 mm M6x70 mmM6x20 mm

Dx4
M6x40 mm

x118

-A x19



3

1

2

Install all the relevant screws,but do not tighten them completely at the very beginning.   
Tighten the screws fully one by one.

Don't tighten up the screw before you start next mounting during the 
installation.

Install all the relevant screws,but do not tighten them completely at the very beginning.   
Tighten the screws fully one by one.

Don't tighten up the screw before you start next mounting during the 
installation.

1
1

2
3

3
12

1

2

1

12

I
I D

L
K

K

M

I

B

M

J
N



5

4

4

3

4

I B
K

I N

N

E

K

I J

L

M

M



5

5

6

10

9

9

-A

-B



6

7

8

11

11

15 15

15 15

14

F
K

C

14

long
short

long short



6
18

6

7

9

10

GH
K

M
K

13
M



8

11

12

I
A

K

M

16

6

8

7



2

9

13

CARE AND CLEANING:
1. TO CLEAN,WIPE WITH DAMP CLOTH.DO NOT USE BLEACH,ACID SOLVENTS OR ABRASIVE CLEANERS OR FRAME PARTS.
2. DURING VARYING WEATHER CONDITIONS AND WINTER PERIOD,WE STRONGLY RECOMMEND THAT IT CAN BE STORED IN A DRY AREA
WITH A SUITABLE COVER BEFORE STORAGE,PLS INSURE IT IS CLEAN AND DRY.
3. IN THE EVENT OF BARE METAL SHOWING DUE TO SCRATCH,IT IS PREFERRED TO TREAT WITH A RUST REPELLING VARNISH OR SIMILAR.
4. PERIODICALLY CHECK AND ENSURE THAT ALL THE SCREWS ARE COMPLETELY TIGHTEN.
5. A MATCHING FURNITURE COVER IS STRONGLY RECOMMENDED TO EXTEND THE USAGE LIFE-SPAN.

17

1

3 4









 
 
    
   HistoryItem_V1
   InsertBlanks
        
     位置:尾页之后
     页数: 3
     页面大小: 与1页面相同
      

        
     D:20241119163955
      

        
     Blanks
     1
     Always
     1
     3
     1
     0
     F:\2021文件\9-中达印刷\11.17-不花芯 说明卡200克哑粉双面-.pdf
     717
     194
    
     AllDoc
     0
     qi4alphabase[QI 4.0/QHI 4.0 alpha]
     1
            
       CurrentAVDoc
          

     SameAsPage
     AtEnd
      

        
     QITE_QuiteImposingPlus5
     Quite Imposing Plus 5.0
     Quite Imposing Plus 5
     1
      

        
     9
     3
      

   1
  

 HistoryList_V1
 qi2base



